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- CUET Admission Test 2015-2016

a,b8 c GAIFFOITAV = (x+y+az)i+(bx+3y—z)i‘+(3x+:y+z)ﬁ@§aﬁ?wﬁ=rﬁ’lﬁw?

(ﬂ} (3:11'1) {b) (31 '_11 _'1) {C) ('_34'1! —1) (d} (3*11' _1)

i : R
AGE: (d); VXV =0= 9 2 9 —-0

dx dy dz

X+y+az bx+3y—z 3x+cy+z

=ic+1D+j@-3)+k(b-1)=0=>a=3b=1c=—1
V=64 @7 ¥ T57?
(a) None of them (b) £2i,+vV3 +i (c) +2i, +vV3 + i (d) +2i,v/3 +i

AMY: (a); V—64 = x = x5 = (8i)2 = x3 = 18i = (£2i)3 = x = +2i, +2iw, +2iw?

= $21,£2i (—57), #2i (F222) = £2i, +(=i - v3), £(~i +v3) = +2i, +(i £ v3) |

TG AT 20m YCA GFT6 ZfANF IS (o e o 3 m/ sec’ QAL T *roITe (et | 2B 13 m/sec
AL ATSITS AT FOH AR N 2N 430 ARG ?

(a) None of them (b) —10 nrg- (c) 10 | (d) 10 or _E

AL (C); 20 + 13t = -3t? = 3t2 — 26t — 40 = 0 = t = 10,—- = t=10
fTa s@i qranfSa carsree T =) 1_+§+§+l§+...

1!
(a) None of them (b)3+e (c)3—e (dye—3

TEE: (b); n®A M,y == __3 . ¢ _y (= —i)=4e—3(e—1)=e+3

n! =(n-1]! n' n=1 (n—=1) n!

oA V<! JICH =111 '@ 1T 91 &CR | SN 30 3 B =1 @ 2 5 57wt 991, 27 g 4 8 &y @ 5 0 AM1 T4, o3 AT 2
fC =151 8 4 6 ™1 97 =m) qfb | MasIfIe Sig fdms == G0 T (A =91 AW T A 77, ©ra 96
I IO (U AREA] TS 7

4 10 62
(a) None of them (b) | ) ey (d) 135
. 13- | 3R 4R 2R
T (c); ‘zw sw|  |aw "

T T GO TG = S S+ 25X T+ 1x 2= 28 S0 190 200 1 991 T = L = L

27

4
- e e = = 2

135

OB ATSH SIAF 73 AT HYF Skg @32 3kg S YR I¥ @ <ifem Tou A0f wany 3=z 4sec #@ oEG
UG 71T | T R W9 T $ora Q32 I FOHY [ AT F0a W ?

(a) None of them (b) V5 sec (c) (V5 — 1)sec (d) (V5 + 1)sec
90 (252 1= () -

2
45“‘Iﬁwmﬁﬁ=4x§-=gms'1 tﬂﬁi@&ﬁﬁ[=§x§x4z=2gm,ﬁ'€ﬁ@ﬁﬁ'@iﬁ=f—g=5m

2

FIO P AIT L A, n = —l.1t+§gt2 = 2g = —gt:+§gt2

=>t3—2t—-4:0=#t=2i':+1&=1i\/§ -'-t=(v’§+1)sec




fBfaae v oA { @ 2 i KUET, CUET, RUET &3 8 J14Id

07. ABCD SIISTHFER AB, BC, CD, DA @32 AC (Il T4 HAWFLY 3,8,7,11 8 5 UFF IePTR 14T WitR | AW AC = 10
aF<F @ BC = 6 I3 T O[3 IAGTE! 71 2 LR TNF 9T W F© YI?
(a) None of them (b) 357 unit (c) 53 unit (d) 106 unit

A fr@ ST S fAT = AB.0 + BC.8 + CD.6 + DA.0 + AC.0 = 64 + 42 = 106
08. X2+ y? = 16 0T M4d X SCFA L 30° (@1 Ty 03 | pfba Aliwed fda w2
(a) None of them (b) V3y = x—8 (c)y =+V3x+8 (d)V3y=x+8
ANYE: (d); =P ANy = mx £ /1 + m? = y = mx + 4V1 + m?
M, m = tan{3{)“)—F Ly = —xi%=-\f§y=xiﬂ

=
09. xy+x%y? = C AT L @7 T F© TA?
(a) None of them (l:.)E {E)i (d) _%
TA1gE: (d); xy + x*y? = C =:vx—+y+ 2xy? + 2x* j,rdx
2.+ dy dy _ _yQ+2xy) _ ¥
= (J{ +2x Y) dx Ty 2}{}’ 0= dx x{1+2:-|:_*,r} X

10. 100 ¢t 999 FANGTAS LT @A 7AW 1 6 @@ ¢ 2 b [Rree =izs SR ©oitad (6 A 97
(a) None of them (b) 300 (c) 200 (d) 150
FAAIY: (b); &Y WF 1 (ATF 9 O A GF0 WA | WA, T WFPETETOS 0 AFEA 1 (0 & (e 41 e
GISIRIETIETI)
Case — 1: 1 0 (=@ 93z 2 O w&mT f[Rtere =ie@ 20, *C, x °C, % 3! = 240
Case — 2: 1 5 (1% @3z 2 5 wa2 v 7 &, *C, X 5C1xi—i=60
=~ GG T = (240 + 60) 1 300 o

11 a2 o R @ Tt ax + 3y — 7 = 0 TN Tof o7 W, O a 99 A -
(a) None of them (b) 3 (c) 2 (d) -2
AATH: {c);(i)(—3)=—1=:»a=2

2 3
1-cos 7x

12. o &g a8 lim

x—0

(a) = (b) < Op= (d) =
. T L cus'?:u: o — 75in 7x — 49.:05‘?:4: 49
STI: (c); lim [ =rgfe] = lim [~ =igfe] = lim 6
13. 2’1‘—‘j‘+i?:nﬂaa'i‘+3]—2kmmwmﬁmqﬁﬁﬁﬁmwﬁmw,wwm-

(a) 3vV3 (b) 5v3 (c) 5V5 (d) 3v/5

i ] k L
s (b): |2 -1 1]|=-1+5]+7k ~cea@a=V1+25+49=/75=5V3

1 3 =2

14. 10 ft sy M2 a6 3 9T AW GF0 AT @SATER AN AGINH AT GIR TF ARG GF0 T ClEPa
Toifafe aaf e JEe e IW Ciesls (ree™ Ao~ fFfeagw AT oI afE Toe o ¢© TA? [,
CIEGa S&F 10000 1b @ T4 3 ft |
(a) 11277 Ib (b) 10000 Ib (c) 10277 1b (d) 9731 1b

Moo SEEREEEEEE  cooncmeorer.

o




sfsfamias ous s | f Ty {f i KUET, CUET, RUET & 3 J14Td

AATYI: (c);
W
W@WWW Sm(“ 2 Sm'];ﬂﬂ = T = s:a _ l*ﬂﬁgn = 10277.42 Ib [T, sin @ = J13123—32 _ 4:#’;_01

13

5. A+B+C= (2“+1)5'€CﬁtanBtanC+tanCtanA+tanAtanB tﬂ?ﬂ"irm Q@E T4
V3 1 1
(a) = (b)ﬁ (€)1 (d)E
AACE: (C); A+ B+ C = (2H+1)E=*tan(ﬂ+E+C) =tan{(2n+1)z}

tan A+tan B+tanC—-tan A+tanB+tanC 1
1-(tan Atan B+tan Btan C+tan Ctan A) u

= tanAtanB+tanBtanC+ tanCtanA =1
16. 2(sinBcosB +v3) = vV3cos0 + 4sinb; 0 <8 < - @9 Y &1 F41

(a)3 (b) 2 ()3 )5
AL (a); 2(sinBcos® +v3) =v3cos6+ 4sinB = 2sinBcos® —4sinb + 2v3 — V3 cos = 0
= 25sin 0 (cos® — 2) —/3(cos B — 2)—U=>51n9—£[cn59¢2]=b9—;

17.  y? = 6x *RIYG 8 y = x TR Q1 AT CFLGd CHFage (37 39|

= 1—(tanAtanB+tanBtanC+tanCtanA) = 0

(a) ﬂurut (I:a)E unit (c)? unit (t:i)i—4 unit
(6,6)
3 6
STUIY: (5w Sea 13); - CFOT = [°(V6x — x) dx = [\/Exgxi—%xz]n =6
18. (1 +x%)7? a7 [APfore x*r @ 72y @A 391
(a) 2r(r+1) b) 2r=1)(r—1) c)(r+1(2r-1) d)Cr+D(r+1)
TAYE: (d): 4T a7 7L, (— 1)2:‘ 3E3+1](3-l(-;?])-)l(3+2r-1] = (:;‘;;;3' = _E{(zr +2)2r+1) = (r + 1)(2r + 1)
19. 93 I 39.2 m/sec AL BfiR T 30° et e 211 o 797 *ta 38 Frset fice 311t 77e1E 5od?

(a) 9sec (b) 6sec (c) 7sec (d) 8sec

TAYE: (715 Teg @3):

v=utat=>vi=uti+ @G Wt=0=u?+ aucos(90° + 30°)t
= uf — ' 0 = — - = : =
u®—ausin30°xt=0=t 2sIn30° — gsin309 8s

fog, Racar, T = 24sine _ 2x392xsin30° _ 4 . a1 85 SO |

9.8

W%wwmﬂmwwww

Ix

20. [ dx @Y+ @@ FF|

e3%X41

(a) None of them {b) X + Eln::g(l + e™3%) (c)x+2log(1+e™3%) +C (d)x — glﬂg(l +e3*) 4+ C
rr: (b); f (S —)dx = fdx—2 [ - =x—2 [ dx
=X+ glug(l + e ) + C ; [QH log g fofe e]

TR | | T
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1. @l SHEEEa SerEad g 1.50 932 aft AE® 0.3A “@ o112 TATS A | O AR 2.0A T IR MATS

TS @MY AT 79 I?
(a) 0.2340 (b) 0.2220) | (c) 0.2540Q (d) 0.2640Q
sTai: (d); Sl = Rl = S = R(:2) = 0.2640
22, 3R 97 fafba AR ST FTF T4 6 x 1014Hz | AMS! 46 (ORI @red TG 1Ay 0.7mm | MG TM 1.4m
T S ©f ZCE 57 od T4I0] 76y F97 |
(a) 0.95mm (b) 0.91mm (c) 1.033mm (d) Imm
WW:(d);}::l::?:ba:lmm
23.  SkgSF 8 0.25m AFE A8 93 @ 50 rad/sec @AF @ LIS AFCE O AfoifE F©7?
(a) 0.078] (b) 390.63] (c) 0.78] (d) 585.94]

TLE: (d); Ex = %muz -’;—ilm2 = %vrm-.nnzr2 + %rnl«:znr,un2 = %m(r2 + k?w? = % X %mrzmz = 585.94]
G, FAfEeE ((@F9) a1 AR
4 TS A GEHIE 2sec «d (@ T ©f AT 20 sec A 5| T 40 o AAfiwds Fawa 8% 2 sec

(ATNSICE Fed? |
(a) 20% (b) 199% (c) 0.046% (d) 200%
. [a\.m _ B6400X2 _ 4320
TAE: (€); T = 86400-20 4319 X2
2 2
Tz (ﬁ)z = 12 - (E) — 1.00046 - 0AYT TS T = (1.00046 — 1) X 100% = 0.046%
Ty Ly Ly Ty
25, Barad ofoTeE OlE AT JTEAE AR 60° T TS 26T a2 A 0T 2AfSTAA (I 12° *INSTN ¢ | Aaee
SFed @&@1d faefy 34
(a) None of them (b) 4.16° (c) 76.48° (d) 13.5° )
AL (C); Hy = o = 4.165 ; TS (19 = tan~1 4.165 = 76.48°

sinr

26. 2.7 X 10* amp/m &AREF GF0 GIFF @ 0.2 X 1074 m? CFaweed a3 Era e 5.3 X 1075 Wb ¥ ©2H

W | BIFE S ey =41 :
(a) None of them (b) 1.43 wb/m? (c) 1.96 X 107°Wb/m?  (d) 2.65Wb/m?

S (d); ST = % — 2.65 Wbm™2

27 % 48 GRS 4000 I29 (OEET [AFact fHevTad T3 1/5 W e = @feneR w9 &3 [ 3

(a) 4.02/year (b) 1.609 X 10~*/year  (c) 4.02 x 10%/year (d) 4.02 x 10~* /year

AAYIA: (d); k = %ln% = 4.02 X 10™*/year

28, @3 WA TET ST ¢ ASEEE @FEE §Ag IAF 0.02m @3R 0.07m | SR TS FIg 0.20m |
STEATER A F© JCA (@1 I8 FIoW T ST 20 0.25m LA OfF &Sy ot A?
(a) 23cm (b) 23m (c) 0.023cm (d) 0.023m

AL (d);ﬁﬁﬁmm,f+l=l=&ue =L m v, = (U.Z—é)m=0.145m
e

Ve fe 128

SfEeTa (R, — + — = — = u, = 0.023m
L] O

o

s SRS
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29. O THEG S LI O 4 ot | THAD I T RAwm Forefc W Ow@ @7 cER Trmd T 24? (47, =

S = 2 X 103%g]

(a) 11.85km (b) 11.85m (c) 11.85 x 10%km (d) 1185km

FAEIE: (a); R = m:—EM = 11.85 Km

30.  aFEN R@ 0.25m 97 Q¥ IR (TS 1T 7 1 SIw 0.35m FIEa I8 (TITS 20 IS FAOT 75 A2 IS 2037
(a) —1.143 (b) —2.143 (c) —6.857 (d) —8.857
1

HAGE: (a); = +§ ===P; u=035m,v=-025m -P=—-1143D

u

31, 127°C @R 427°C SITAR 4T IS G0 IfGa TSI_T FE % el T 21?
(a) 23.62% (b) 42.86% (c) 50% (d) 70.25%

AT (b); 1 = ( —E)xmn%:crz 86%
32. v (539 A 3267 @ Fwed AfGan IUGW 28 9T @ 4aw|mﬁrqﬁwmeoﬂmwwﬁw

o T o99 | e T 972
(a) None of them (b) 28 unit (c) 24 unit (d) 20 unit
TNYE: (d); P+ Q=28,P-Q=4

YOI & I aAfeq = /P2 + Q2 = Jl[(P+ Q)% + (P — Q)2} = 20 unit

33. @36 N oF T T Sm, &¥ 3m ¢ St 10m 80% el (2 Wb =1 20 A Ts Fafbes =iy

TACS AMA | ATOF T 67
(a) None of them (b) 6.6HP (c) 8.21HP | (d) 10.26 HP

FAEIA: (d); A $ere ey e = Meh = ahcfg‘i = 6125w

t
‘- AT TS = 222 X 100 = 7.656 X 103w = 10.26HP
34, @FL 300m* SASTA FCFA OO SIMIEAT 27°C | GAFFEAIR IR FIE & ISTET SIPE1 I 17°C 2971 1

S BT AN AMF, OlF *[o3q Fools I ICad VY S/ =00 qa?
(a) None nfthem (b) 10% (c) 30% (d) 3.33%

ST (a): V, = le (2 x 3uu)m = 290m?, AV = 10m3

WWWW s = — oo X 100% = 3.33%

35. wﬁ‘wmarqrgﬁﬁttm%m@—wmmlﬂiwwwﬁﬁencmmwwa—v
(a) None of them (b) 10 sec (c) 1sec (d) 0.1 sec
A (d); Joe = 6ms™; T =2=0.1s "

36. mﬁamwaokm/hrﬁmﬁmuwwﬁ‘mﬁ@ﬂuﬂﬁwmkm/hrmﬁAmﬁ@ﬁwWW@
T3 M 27 T 739 2.5km T O B e sifotast 20 km/hr? T 2T (TS ATE | IS FAG 8 A AT

B NSt A ~1fiSfbre wwre «imea?
(a) 37.5kmand 0.25hr (b) 32.5kmand 0.50 hr (c) 30 km and 0.50 hr (d) 60 km and 0.25 hr

STAL: (b); 2.5 + 60t = 70t — ~ X 20t? = 10t2 — 10t + 2.5 = 0 = t = 0.5 hr
S = 70t — > x 20t? = 32.5km

37. ﬂﬁ?ﬁﬂﬁﬁﬁﬂ{gﬂﬁﬂﬁﬂﬁﬁﬁﬁﬁﬁkm}secmm @AM SfSFIG G I gy, = 8m/

sec? | §-9 (LT TR Twel ey w9
(a) 1600km .(b) 4000km (c) 14400km (d) 8000km

TNHE: (a); v = % = /gn(R+h) = R+h = 8000km = h = 1600km

_ | ; 257 1 -_ AAAET ST FRGT “1BoTT,..




e ) g (0

38. wﬁwqﬁﬁwﬂW@ﬂqﬁmﬁwwww@wumwﬂﬂmﬁm—rwww—m

fevpester *Ife 1050pV TE? [49, a = 12p°Cand b = 12pm/(°C)?]
(a) 105°C (b) 700°C (c) 327°C (d) 100°C

FA14: (No answer); E = af + b6%? = 12 x 107%(8) + 12 x 107%(8)* = 1050 x 107°
= 1262 + 126 — 1050 = 0 = 8 = 8.867°C -
39, 35 tamyfes #T ffE 1200 I Y1 326 35 <94 2 95 == =il 3 T a1 oo qeare siest Ao g1

SRS K
(a) 1500 rev (b) 2000 rev (c) 3000 rev (d) 1200 rev
T: (d); 8 = (“522) t = 1200 rev
40. 1 AR @B I APTE 99m @R AR #ATS 7RG T4 7Ag 1.5m | FSO0= 1S werst qfzesm =re Fo:MH

T 20 IR 2T @2l 519 QT =1 I @36 GF 9.8m/sec Tfors Ife Nre A?
(a) 1.6m (b) 1.3m (c) 0.148m '~ (d) 1.48m

sin® = 0.0985: % = sin® = h = 0.1477 =~ 0.148m

2
FAAL: (C); tand = ‘:—g = tan® = 0.099 -

NO>
CGD.HESD.',
41. @ +HNO; —— ;© +H,0 [fewiocre HNO; 93 Sfi 672
(a) Base (b) Catalyst (c) Acid (d) Indicator

+
SAA1YE: (a); H,S0, + HO — NO, —» NO, + H,0 + HSO3
a3flie uff© OH~ oM™ <3| Joar, Gt 93 H19S (base) |

42. 1UPAC ?&fet® CH;CH,CH(CH;)C(CH,); (AI9IoF v 2&1-
(b) 2,2 — di methyl, 3 — ethyl pentane

(d) 2,2,3 — tri methyl pentane .

(a) Ethane di owic acid
(c) 3,3,5 — tri methyl hexen

CH; CHj
I |
CH,

Y

2,2,3 — tri methyl pentane
43. O 0™ TE B0 1g WEIeH GAge SR | & HI9EF 50mL CCl, 3R I TAF Tae! o F© AT WAl

w@f*2 ARFTI? (49, CCl, @ I 1 747 1, 97 I5F 4% 25 80 (]

(a) 0.8g (b) 0.6g (c) 0.4g (d) 0.2g

. . - . jooo0 _ 1 20X 1 x _1 —
FAIYE: (d); 477, TEE 910 RIS 4P = x gm - 4% = = > T —w I T ¥ 0.2gm

50

44, SNSFCE IACS 25°C @ SENT ICHE Gl ST 0.0287 G2 YA (NG B9 0.977 atm XA, IS TAW AT
w1 B19 T F(A?
(a) 0.30 atm (b) 0.948 atm (c) 0.028 atm (d) 0.029 atm
T (c); S 5191 = CT5 BIof x C1ef S1es = (0.977 % 0.0287)atm = 0.028 atm
45.  YEFI QAP PGS 21fATS 585 ppm NaCl SR | & #/fATe NaCl @3 (Ienfaic +o7?
(a) 0.05M (b) 0.04M (c) 0.01M (d) 0.03M

SI4A: (): 585 ppm = 585 mg/L = 585 x 1073g/L = 5352: mol/L = 0.01M

TR | > | TN
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46. SRR SHRT ¢ FAFMRGT AFE e 1.0 x 1054 e WG T Y@L SO FAE FO I
ST Se o 33?
(a) 268.6kg (b) 307.6kg (c) 9.95kg (d) 805.8kg
ANYE: (a); Al** + 33&;‘ - Al

1 mol

5 .
Q =1t = (10° x 8 X 3600)C = “——""°F = 29844.56F

__ 2984456

29B44.56

mul=(

x 27) gm = 268.6kg

47. @3 fagR e @ra e 2.4% AFe Teer e 3.1 x 107kg 1 CATSTTNT R 1 STP (© T SO,
e iy o1
(a) 2.17 x 107L (b) 5.21 x 10°L (c) 5.21 x 10°%L (d) 2.17 x 10°L

3
AN (c); AFF AFTFIET ©F = (% x 3.1 x 10?) kg = 744000kg = “——"mol = 23250000 mol

S+ 0; = S0, = ng=ngg, = 2.325 x 10’mol
~ STP (8 50, 99 9o = (2.325 x 107 x 22.4)L = 5.21 x 108L
48. 300 mL 0.2M ¥<=@™ NaOH &3¢t 100 mL 0.1M Y@ H,S0, TREAIes Seféie exifirs a1 2071 928 NaOH
7o I arE fady o9
(a) 0.14M (b) 0.15M (c) 0.04M (d) 0.1M
AL (d); nyaon = (0.3 X 0.2)mol = 0.06 mol ; Ny,s0, = (0.1 X 0.1)mol = 0.01mol
qF (& H,S0, 2 mol NaOH (& &=ifite 3|

» B M8 NaOH = (0.06 — 0.02)mol = 0.04mol - SE*8 NaOH ¥RTeE T@l =

0.04
0.3+0.1

M=01M

49. 1 @36 ToA RIFTT An = - 1 F© oM G@fmET Srmam K, @37 I K, @9 7 Sived 3?7 orem

Ht2, R = 0.0821 L atm mol~! K1
(a) 506.54°C (b) 34.45°C (c) 97.45°C (d) 779.54°C

K= 779.54K = 506.54°C i

AAIE: (a); K, = K (RT)4" = 8K, = KE(RT)% =RT=64=>T= n_::n
50.  FICHLH SEl IR ~RNI9R IR ZEIGT SO TG 2

(a) (n — 1)d"ns? (b) (n — 1)d®ns? - (¢) (n — 1)d*%ns? (d) (n — 1)d%ns!

SIIE: (a); ST M@ (TF S 4196 ZUIRa (Pu) | 7@ aff option @ (R | O w93 e (R @2 S

(76); G option @ %1 S FSIW =G =52 Iridium(Ir) TR AR F227T 77 € IRIE 2EGH IO

(n —1)d7ns?|
51. U9 A9 QS0 FYH1F pH 21 3.80 | @ FYHT OH~ QT AN FS (A2
(a) 1.58 x 10~5M (b) 6.31 x 10~ 1'M (c) 5.29 x 10~1°M (d) 6.98 x 10~°M

ANYE: (b); pOH = 14 —pH = 14 — 3.8 = 10.2
—log[OH™] =10.2 = [0OH"] = 107192 = 31 x 10~11M

52.  25°CSI°MI @ 2.5atm BTt PCls 65% fRaifere zra PCl; @3z Cl, Beoi 31 « RfdFam K, @3 W 997
(a) 7.475 X 10™*mol L™ (b) 8.101 x 10~2mol L~! (c) 6.239 x 10~3mol L1 (d) 7.263 x 10"2mol L1

a __- (0.65)?

2P = 1-(0.05)2 X 2.5 atm = 1.829 atm

ANE: (a); K, =

) _ An _ _ EE _ 0.182% it —2 -1
~ Kp = K (RT)®" =K. RT =2 K, = RT — dos21xaes MOl L7 = 7.475 X 10™*mol L

TR | - |
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53.

54.

3.

56.

57.

58.

59.

60.

61.

qfb SIIF ©IFa (994 AT 15 min €73 0.1 mA RJR 511 T4 Foi0 G 2]1RS 237?
(a) 4.84 x 107 (b) 8.60 x 108 (c) 2.31 x 10'° (d) 5.62 x 107
TMYE: (d); Q =1t = (0.1 X 1073 x 15 x 60)C

..-' -3
15 e QA& 51 = 1.6 x 10719C .. SEHTAR Nt = 2xi0 XIXO0 % _ 562 x 1017 &

1.6x10-19
fwtoe @raibs EMF 97 Zn|Zn?*(0.001M)||Ag*(0.1M)|Ag [EZ,; = 1.56V]
(a) 1.59V (b) 1.46V (c) 1.61V (d) 1.10V
T (a); Ecen = Eeyy + = In {;ﬁﬂj = 1.56 + 22 f]“;;: volt = 1.59 volt
25 SIoR el o1 Fe TR 39 Tpe IR ES Wb (@ metE? [Ans: b]
(i) SO, (i) CO (i) O3 (iv) IFSAT (Particle)
(a) All of them (b) i, ii, iv (c) ii, iii, iv . (d) i, ii, i
25°C Oriary SpiHoS «fited pK, 21 4.76 1 5.0 pH & T e GHIGAT SRS (AT [Foitd oEe w41 a7
(a) None of them (b) The ratio of sodium acetate to acetic acid 1s 1:1.738

(c) The ratio of sodium acetate to acetic acid is 1:1 (d) The ratio of sodium acetate to acetic acid 1s 1.738:1
FN4E: (d); pH = pKa + log—2 = 5 = 4,76 + log =3It = =salt — 1(05-476 = 10024 = 1,738

Nacid Nacid Nacid

RS e 3Gy 19 84 *1fE T i Y e v geiie T I i R o, v g2 ad@
(@A O (A 9? [49, [Ferf $9% = 109678cm™!]

(a) 4.86 X 10 >cm (b) 18.75 X 10~ °cm (¢)9.72 x 10~ %cm (d) 6.56 x 10~5cm
1

TAGA: (a); 5 = Ry (i%— ni%)ammﬁﬁrm CFTE n, =2 = 109678 (5; — %) em™! = A =4.86 X 10~5cm

(THECE ARG FACET B9 A4 Atifoa i f57?
(a) Picric acid (b) m — Nitrophenol (c) Salicylic acid (d) p — Nitrophenol
OH

OH - NOs
H2504 (°F)
T4 (a); @ +HNO,(conc.) ;

NO3>
(Prefas ufse)

@ FEF3E Aifod v(C = 0) 97 T FA{EF? FAns: c]

0
0
/0 t
@) r (b) © A @

g @ @ife smEete ¢ ufene So 4if ewefq sa?

(a) Chlorobenzene (b) Toluene (c) Cyclohexene (d) Benzene
CHs

SY: (b); @ ; DERA4 CH; St sifertafoes @ @H&NW ¢ 27T I

Choose the correct “Indirect Speech” of the following “Direct Speech™: The prince said, “it gives me great pleasure
to be here this evening.” [Ans: c]
(a) The prince said that it gives him great pleasure to be there this evening.

(b) The prince said that it gave him great pleasure to be here this evening.

(c) The prince said that it gave him great pleasure to be there that evening.

(d) The prince said that it gave him great pleasure to be there this evening.
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62. Choose the “Correct Translation” of the following sentence: “SfY OIF (SINF FAIT 47D TS G [Ans: a]
(a) I heard him to calling you by your name. (b) I heard him called you by your name.
(¢) I heard him calling you by your name. (d) I heard him call you by your name.

63. Choose the “Most Appropriate Choice” of the meaning of the underlined idiom of the following sentence:

“This boy is far and away the best boy in the class.” [Ans: c]
(a) not at all (b) a long way (c) by a great margin (d) everywhere

64. Choose the correct “Active voice” of the following “Passive Voice:
“Why wasn't the matter brought to my notice?” | [Ans: d]
(a) Why don’t you bring the matter to my notice? (b) Why was the matter not brought to my notice? |
(c) Why you didn’t bring the matter to my notice (d) Why didn’t you bring the matter to my notice?

Read the following passage carefully and Answer Questions 65 and 66:

Ever since human have inhabited the earth, they made use of various forms of communication. Generally, this
expression of thoughts and feelings has been in the from of oral speech. When there is a language barrier,
communication is accomplished through sign language in which motions stand for letters, words and ideas. Tourists,
the deaf, the mute have had to resort to this form of expression. Many of these symbols of whole wurds are very
picturesque and exact and can be used internationally; spelling, however, cannot.

Body language transmits ideas or thoughts by certain actions, either intentionally or unintentionally. A wink can be a
way of flirting or indicating that the party is only joking. A nod signifies approval, while shaking the head indicates a
negative reaction.

Other forms of nonlinguistic language can be found in Braille (a system of raised dots read with the fingertips), signal
flags, Morse code, and smoke signals. Road maps and picture signs also guide, warn and instruct people.

While verbalization is the most common form of language, other systems and techniques also express human

thoughts and feelings.

65. How many different forms of communication are mentioned in this passage? [Ans: d]
(a) 8 (b)9 (c) 7 (d) S
66. All of the following statements are true EXECPT. [Ans: d]

(a) The deaf and mute use an oral form of communication.
(b) Ideas and thoughts can be transmitted by body language.

(c) There are many forms of communication in existence today.

(d) Verbalization is the most common form of communication. v

67. Choose the “Synonym” of the word “CORPULENT” [Ans: a]
(a) Obese (b) Emaciated (c) Gaunt (d) Lean

68. Choose the “Appropriate Preposition” to fill in the blank of the following sentence: The food isnot  my taste.
(a) at (b) to (c) by (d) on [Ans: c]

69. Choose the “Complex Sentence” from the following sentences. [Ans: c]
(a) I went there but could not meet him (b) Having taken the meal, the beggar went away.
(c) Though I went there, I could not meet him (d) In spite of my going there, he did not meet me.

70.  Choose an “Incorrect Sentence”. [Ans: c]

(a) The company representative sold to the manager a sewing machine for forty dollars.
(b) The students themselves-decorated the room.

(c) Sakif would rather stay home tonight.

(d) The salary of a professor should be higher than that of a sacretary
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